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H}utf&! Work - Menitaring Paint 1 :]

FREE FLGW Q=cd*L *Go*SQR(ZG WS Elys] )]

Max. water surtace elevation in m.[msH
Sill elevation in m.[(msl]
Gate length in m.

Uischarge coefficient {cd)

Qincms, {max, Q= 11.2 cms.}

Water surface elevation in m.[msi)

© Calculate Ga

[C_a!cuiated Go in m. 3 : j @5267 j

Pfim Farm e l;_-'--.'F.!eturn to-Main Meny -




ELEVB7

LMC

Q71

ELEVSZ1

Canal

(FTar

slope [S7} = 0002

bed width [B7)=  [374

side slope {z7) = (15
Manning'sn =) 77 |
Gate length [L.7] = 375

Qmax 7 incms. |5 53
ELEVSY = 193.228
ELEVB7 = 198.784
FSL7 = m_

Qmax71 in cms.

5.43
FSL71 = 200.121
ELEVS?1 = 198,321

g(dh}]]

[0= Cs*L*hs*sQR(2
al 7= A
ba7 = -1.3105%

Calibration curve {Submerged Flow |

73
§

L Calculate Water Surface Profite and Go | [

T

Water Surface Profile Calculation for LMC-Check at KM 21.000 ™"

" Save Canal Dain

Distance (% in m, = 2315 7
No. of calculation steps = 10
AtFSLT1,ufs depthfYus71) = 15000
Q7 incms, Qmax= 5.43 5.4
Q71 in cms, Qmax= 5.43 I </
iNnrmaI depth [Yn7)inm.= - | 1.4453 __J fCali:utate{Hecalculata
Section Distance{m) Qfems) Depth(m]
...... U “num]ﬂ . """""'S.i]'{l['lrm '___1._8(101]
1 -0147.5 5.000 1.7821
2 - -295.0 5104 1.7653
2 -0415.0 5,104 17519
4 05350 5.255 17395
) -0645.0 5.320 1.7288
6 0787.5 530 17is3
7 0930.0 5,320 Cigees
8 -1072.% 5.320 1.6901
g 1215.0 5.400 1.6788
....... 7 i Yy S

VWater surtace elev. ifs of LMC-Check at KM 21.000

200.4550 | m.{MSE]}

[Previous pagei [Print Farm § lrF{é.tum to Main Menuj I Goto Calculate Ga I




Calculated Gz_lle Openning [Go} for -LMC-Check at KM 21,0007 |

Emerged Flow : @ = Cs**hs*SOR{2gdh)

hs{Go = a*Cs"b

= 5
E A
-1.3105
= 3.6

= 200.7780
= 199.2280

= 200.4550

- 198.7840

- t.2270
- 6.3230

Colculated Go Tn'm. = [T7752

o
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T |

9R-LMC L =]

ELEVS4

|5|Fl—LMC Km.0.800 head regulater- Monitoring Point 1 1'—1

Canal section 3.

Canal section 4

ICanei séction 11 ]

slope{sl]= 0002 Qmax4d in cms.=  [g.329 Omax11in cms.= |2 4png
bed width[b3)= 3 F51L4 = 203597 | ELEYS11= 202.077
side slope[z3)= 15 ELEV¥S4 = 201.767 | Gate length{l11]= [125
Manning's n= 017 —
Qmax3 in cms.= T ICallbrahon curve{Free Flow} ]

; [Q=Cd™[*Go*SAR(2g¥ 11} : (¥/Go=al Cd+bD) |
| Calculate Water Surface Profile and Go | | Print Form | [™ 8ave Canal Data ™|

Water Surface Profile Calculation for 9R-LMC head requlator

Distance [¥] in m. =

Mo. of calculation steps =

At FSL4,ufs depth[Yusd) =

Q3 in cms, Qmax=
Q4 in cms, Qmax=
Q11 in cms, Umax=

8.737
6.329
2.408

150

10
1.8308--
8.5

5

2

|Nurmal depth [¥n3} inm.= * |

1.4668 - ‘ QCéiéu'ia{é(hecalculaif:]

o L RN

W ~imtn

—_
=

Section

Distance(m) | Qfcms)
N 111 1R 6.000
-0015.8 6.000
T e
-0047.5 . 6.000
..80633 0 G0
-0079.2 ‘ 6.000
_tosse 64
-0108.8
_____ Utz 814
-0136.3 6.114
-0150.0 6.114

e

Depthim]

8300
8281
.8262
8243
8224
8205
8186
8170
-
.B139

1.

8123

Water surface elev. ufs of 9R-LMC head regulator

203.6093 | m.[MS1]}

|Previous page] { Print Form § | Return to Main Menu J J Geto Calculate Go' j

[



C'éi);ulé't&d‘Gaté” Openning [Go}tor 9R-LMC head regulator

Free Flow: Q = Cd*L*Go
Y{Go = a0*Cd+hi

*SOR{ZQ\]

0 ma< in emis =772, 4{8 i R

Qincms. =[5 {|* Input { Modify (3_]
a0 = [|.1a9% g

b = 16.65

Linm. = 1.25

U/S water surface in m.(msl) =
Gate sill elevation in m.[msl) =
U¢s depth{m), ¥ =

203.6093
202.0770
[1.5323

Calculated gate openning [Goj In m,

|

[ Previous page | [ Print Eorm }

[ Return 10 Main Meﬁuﬁ
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Inclined drop

JBR-LMC

WS16

3R] |

Inclined drop C

Km. [35.010

s
E

FSL1

- Km. {9 000
] Km. 0.240 _
O g [ress ] \

1

8]

b
)
ELEVSIR]

s16

\

™,
— 16

A ELEVS10 J ELEVSIS ELEVB16 3
| 3BR-LMC head regulator - Monitoring Point 16 |
——— ion 16.
Canal section 9 | Canal section 10| [Canal eecion TH

——— . slope [s16]) =
slope fs9) = 0.00083 Omax10in cms. = | 295 bedpwi[dlh (b16] = .2[10002
bed width (b9) = 2.9 FSL10 = 196.037 side sfope (216) = 115
side slope [29) = 15 ELEVS10 = 194.758 Mt fs W_
KR ] .
a ﬂnm;!_; =1 _ s Gate length [116]= [§ 25

max3 in ems. = 4,179 Qmax16incms.= [3E52
ECalibratiﬂn nuwc[Suhmcrged Fiow] for J0R-LMC } ELEVSi6 = 193.989
ELEVO16 = 194.153

Q = €s*L"hs™50QR{2g(dh)) |

8016 = [ 3371 b016 = 'jﬂ]

Inclined Drop

ELEVS161 =

["""Save Canal Data ]

[Calculate Water Surface Profile in LMC] [Calculate Water Surface Profile in 38R-LMC | [Print Form |

Waler Surface Profile Calculation for 38R-LMC head regufator ~ 7

Distance [} inm. = 2019
No. of calculation steps = 10 _
AtFSL10,uis depth[rusli] = 1.2780
Q9 in cms, Qmax= 4.179 A
Q10 in cms, Qmax= .205 2
Q16 in cmg, Qmax=  3.652 15
0161 in cms, QMax= 3.652 3.5
}Narmal depth {Yn9) in m. = 1 |U.1 5 l JCaIculate!Hecalcu!ata
Section . Distance[m] Q(ems} Depthfm]
g e S Pt
T " -p020.9 “p.z00 R K
e [rorg e S e e
3 - -0062.7 C0200 12270
4 -0083.6 0.200 1.2097
5 01045 0.200 1.1923
"""" 6 01254 0.200 : 1.1750
f -01485.3 p.200 1.1577
8 B167.2 0.200 | 1.1403
g 0188.1 p.200 1.1230
10 -0208.0 0.200 i 1.1057

Water surface elev. ujs of 3BR-LMC head regulater

{196.0371 [m.IM5L]

IF'revinus pagea I_P;int Form__i tReturn to Main MchJ %to Calculate Go 1




Water Surface Profile Calculation for 38R-LMC head regufator. .~ 7T

Distance (X] inm. =
No. of calculation steps =
Atinclined drop{Yus161] =

Q9 in cms,

Q10 in cms,
Q16 in ems,

Gmax=
Qmax=
Qmax=

4179
.205
3.652

Q161 in cms, OMax= 3.652

240

10
0.b821 -
A

2

35

35

Normal depth fYnl6)inm. = - I 2.9236 31 [CatcutatefRecalcutate |
Section Distance{m} | Q[cms) Depth(m}
(I 3.500 05821
< oomsene | ok i L
; B " Hiirie
3 3.500 0.6480
4 3500 C0.B7TA
R - s RR e pilbane
§ 3.500 0.9246
7 3.500 © 1.9444
8 3.500 0.9624
9 ) 3.500 0.9789
BT -0200.0 | 3.500 0.9342

Water surace elev. dfs of 38R-LMC head regulater - [1g5.1610 [m.(MS

IPrevious page] [Print Form§ [ Return to Main Menu } [ Goto Calculate Ga |

Calculated Gale Openning (Go} for 3BR-LMC head reguiater ™"

Submerged Flow : @ = Cs*L*hs"SQR{Zgdh)
hs/{Go = a*Cs"b

—
Qinems. = 15
a = L3371
h = -1.3663
Linm. = 1.25
UISWS. = feRdaTt |
Elevs, = 1941620 -
DIS WS, = 195.1610
Elevh. = 134.1530
hs = 0.9990
dh = 08761 |
Caiculated Go inm. = 1.7358 .
{Go > MaxGo : Recommend full gate openning)

[ Previous page | [ PrintForm ] | RBeturn to Main Menll_l
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B e
LMC
-
523 ELEVS23
[BEH-LMC Km.3.008 cross regulator - Manitering Point 237
Canal section 23; Lanal section 24
S|Dp8[$23] = .0oo2 Qmax24in cms.= 1.102
hed widih{B23)= 1.4 FSL2d = 186.851
side slope[z23)= 5 ELEY5Z4= 185.754
Manning'n = 7 - =
Gate lenghL23)= 1 Calibration curve(Submerged Flow]|
Omax?3incms. = [ 77 [0=Cs*L"hs*SQR{Zgldh]] |
ELEVS23= 1861
186.155 427 e
ELEVB23 186.051 b23= .
= -.78
FoLE3= 187.255
|_Calgulate Water Surface Profile and Go | L printForm |

[” "Save Canal Data | N

Water Surface Profile Calculation for 8R-LMC at Km 3.0907 "

Distance [X]) in m. = 1560
No. of calculation steps = '1[]
At FSL24,ufs depth(Yus2q) = 1.0970
023 in cms, Qmax= 1.927 1.9
Q24in cms, Qmax= 1.102 11
Wnrmal depih [Yn23}in m. = I 0.8319 [Ca!culate!ﬂec_alculata
Section :  Distancefm) | Q[cms) : Depth(m]
R e e g |
T : -0010.0 ~h3m 1.0958
2 0156.0 1.301 1.0788
3 03000 | 1586 1o68a
R 04900 | 1.586 1.0569
5 ps80.0 1.506 1.0461
6 08700 190 iopass
7 -1027.% 1.900 1.06503
s o b e g
g 13425 1.900 1.0532
wo 45000 . 1.900 1.0543

Water surface elev. dfs of 8R-LMC at Km 3.000 ' 187.1083 {n.(MS1)

[Previous pag__ej LPrint Form { réﬂtui’ﬂ 1o Main HB_n_L_lj rGDiO Calculate Gﬂ




Calculated Gate Openning {Go} for 8R-LMC at Km 2.008 777
Submerged Flow; Q = CS*L*hs*soR[ngﬂ

hs/Go = a*Cs™h

Qincms. = 1.1 4]
a = KE
b = 78
Linm. = 1.2
WS WS, = MR7.76550 |
Elevs. = 186.1550
DIS WS, = 187.1083
Elevh. = 186.0510
hs = 0.9533
dh = 0.1467
Calculated Go {n mi-s
N

F: Previous paq'éj [ "Print Form | l Return to Main Meny j
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.

( LMC —>  Km.[{§10 Km. [0.00p

e L
( o FSL3T1
31 2
e | 2 oo (2
— ELEVS31 m
Ken. 7 ELEVB31
FSL3 K ELEVS311
ELEVS3

[ AMC bead regulator - Monitaring Point 31 ]

I Canal section 2.~ 1 f ~_Canal section 3~ ~ _] l Canal section'31:

slope [52) = 0.00027 Gmax3 in cms, = slape [s31) = oB174 |

bed width (b2) = FSL3 = bed width(p31]= 71

side slope (22] = ELEVS3 = side slope[z3l)= [ 5

Manning's n = : - — Manning's n = 018

Qmax2 in cms. = ] ganaleemion Skl T Gate lengthli31) = 3

: ; Omax311 in cms.= er Qmax31 in cms.= [T7qg2 |
[Cahbralmn curve[Submerged) for Flhﬁj FSL311 = o ELEVS1] = TR
[@=Cs*L*hs*SQR[2g*dh) | ELELS311= 203593 | ELEVB3! = 204.015 !

al3i = 757 b031= | gaye Canal Dats |

Water Surface Profile Calcutation for RMG head requlator

Distance (X) in m, = 10
MNo. of calculation steps = 10
AtFSL3.ufs depth(Yus3} = Z.on00
02 in cms, Qmax=  9.926 05
Q3 in cms, Qmax=  §.737 B
Q31 in cms, Qmax=  1.4%2 1.3
Q311 in cms, Qmax= 1.234 B
Normal depth [Yn2) in m, = | 1.5656 lCalculateiHccélcu[ate]
Seclion ! Distancefm] | Qlcms) Depth(m)
""""" 1 00010 | 8000 2.2498
2 00020 8.000 22497
3 -0003.0 ! 8.000 2.24_95
4 o040 8,000 2.2493
5 ) : 2.2491
5 2.2490
7 2.2488
8 2.2486
9 . - 2.2484
10 -0010.0 8.000 2.2483

Water surface elev. ufs of RMC head regulater " (505 6p06 m.{MSL}]

|Previnus page] [Print Farm ] [Return to Main Menu | | Gote Calculate Go 1




Water Surface Profile Calculation for RMG heail regulator

18

Distance (X] in m. = 2420
No. of calculation steps = 1a
At RMC-CH2.42(vus3tl] = T
Q2 in cms, Qmax=  9.926 95
Q3 in cms, Qmax=  8.737 8
Q31 in cms, Qmax= 1.492 1.3 <
Q311 in cms,OMax= 1.234 8
IN_urrnal depth (/Yni) inm. = | ll].ﬁS]T : —’ 'Calcufalé[ﬂacalculaie']
Section Distance(m] Q[ems) Depih[m)
..... - faeTTT difi ey
....... L .J0310.0 0.800 o3
2 -0620.0 0.800 0.9138
3 -0930,0 0.921 C nsmz
4 -0970.0 1.016 2.9010
i P R Lt
6 -1536.7 1.016 ' 0.8990
7 -1820.0 102 0.9058
8 -2170.0 1.206 D.9241
g 2240.0 1.300 0.9295
10 2420.0 -~ 1.300 0.9414

Yater surface elev. dfs of RMC head regulator

" [204.9555 [m.(MSL)

[Previous page] [Print Form | [Return to Main Menu | ! Golo Calculate Go |

Calculated Gate Gpenning [Go) for RMC head regutater 7777 7

Submerged Flow : Q = Cs*1*hs*SQR[2gdh)

hsfGo = a*Cs"b

1.3

787

-8185

1

Z205.5605

'204.3710° |

204.9555

204.0150

0.584%

0.6050

Calculated Go in m. = [§ 5397

1: " Previous page

| _PrintForm

[ Heturn to Main Menuuj
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Monitoring Point 1 - Irrigation Outlet (Free Flow)

PMP HW. Elev, + 229
Normal Reservior Level
+221 m.
WS
Min. Reservior
P 1.83 x 1.83 m.
Level + 208 L =183m.
Max. Go = 1.83 m.
204 .5
ELEVSI Cd = 2.4036

Q=CdLGo J2g(WS - ELEVSI)

T18aL880 Irigation Outlet (VNGTIVIAWIN 1)



21
Monitoring Point 7 (LMC - CH 21) - Submerged

Km. 21.000

@ Km, 23.315

ELEVS 7 - L ELEVEB 7

ELEVS 7,

Km. 22.100

Km. 22.670 Km. 23.020

Q= G132 Q=0.186 Q=0.115

Scction A - A

0.018
2.40 m.
1.5
< > §7 = 1:3,000
| b7
Canal Section 7 Canal Section 8
Qmax 7 = 5,430 Cms. Qmax 7, = 5.480 Cms,
Fs1.7 = 200.882 m (MSL) FSL. 7, = 200.130 m (MSL)
ELEVS 7 = 189.191 m (MSL}) ELEVS 7, = 198.403 m (MSL)
ELEVB 7 = 199.092 m (MSL)

neazdesmlszgizuennass LMC nu.21 saz¥anaedi 7 (gaasiodmim 7)



Monitoring Point 11 (9R - LMC ) - Free Flow 29

Km. 6.880 Km. 9.050 Km. $.200

9R-LMC
kKm. 7.200 Km. 7.875 Km. 8.330

Q= 0.100 Q=0.100 Q =0.106 : Km. 9.105

Section A - A

§3=1: 6,600 ELEVS 4 —
@ n3 = 0.018
WS11 — :
' Qmax 11 = 2,408 Cms, Hie
Cc

ELEVS 11 = 202075 m (MSL) ¢y -

G
L11 ~ 1.25 m. 1+Ce—

0.608

Y
o = 36.132Cd+37.358 Ce

Section B - B

ELEVS 11 ——

Q11 =CdLGey29Y11

Canal Section 3 Canal Section 4

Qmax 3 = 8.737 Cms, Qmax 4 = 5.963 Cms.

FSL 8 = 204.199 m (MSL) FSL 4 = 203.574 m (MSL)
ELEVS 3 = 202.385 m (MSL) ELEVS 4 = 201.754 m (MSL)

SeazBenlzgizuigtnnaes 9R-LMC savvisnasdhi 3 uaz 11 (9anTadaviii 11)



Monitoring Point 16 (38R - LMC ) - Submerged Flow 23

Km, 36.010

Km, 37.650 Km. 37.859

Km. 36.705

Km. 37.090 Km. 37.270
O =0.151 Q=0.120 Q=0.100 Km. 37.670
Q=0.153
b9 = 2.20m Km 0.240

z9 =15

Qmax 10 = 0.205

FSL 10 = 196.037

ELEVS 10 = 194.758

S8 =1:1200 TLEVS 10 - |

zl6 blo=200m

zhe = 18

Qmax 16, = 3,652
L16 = 1.25 m.

FSL 16, = 195.440

§
— = 0.3371CsIS

ELEVS 16, = 194.162

FSL 16,

R

AT ELEVB 16, = 191.558
nl6 = 0.018

BEARFAORNE
ELEVS 16 ﬁi ELEVE 16
—C Si6=1aC
= A
(Qmax 16 = 3.652 ELEVS 16, J e
ELEVS 18 =193.989
ELEVEB 16 = 194153 Section B - B

swazdaaiszgsrielinaaed 38R-LMC uayyinassd 9 uay 16 (ganiiniaiii 16)
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Monitoring Point 23 (38R - LMC 3.00) - Submerged Flow

Kim. 3.630 Km. 4,200

Km, 3.000 Q=10116 Q = 0.100

Km. 4.500

P = 0.100
Q= [LEL: Q Km. 4.490

Q=0116

A
ELEVS 23 —
FLEVS 24
Secuion A - A
e e e h22 =140 m
723 = 1.3
: : " n23 = 0.018
s2c S23=1:2.700

Canal Section 23 Canal Section 24

Qmax 23 = 1.927 Cms. Qmax 24 = 1,102 Cms.

FSL 23 = 187.233 m (MSL) ¥FSL 24 = 186.844 m (MSL)

ELEVS 23 = 186.066 m {MSL) ELEVS 24 = 185.813 m (MSL)

FLEVE 23 = 186.023 m (MSL)

swazdensznszinealinaaes 38R-LMC n.3.00 uazyIannsedi 23 (3ans303nii 23)



Monitoring Point 31 (RMC ) - Submerged Flow 95

Km. 1.620

Km. 06.300 Km. 1.810

Km. 0.450 Km. 1015 BN i _:.l. Km. 0180
0100 0.100 Kin. 0.250 0
Q=0 Re=4 (Submerged Flow) || 2 =L
Q=0110 s b
{31

. Em. 6.600 Q= 0.100

A0 Km.1.450 Q=0.119

E{ £30 Km. 1.490 Q= 0.108

b2 225 L3 Km. 2.420 [[?
/@ : O—3 Km. 2450 Q = 0.100
Km. 2.600 [~umbes
@ @Qmax 8 = 8.737 cms,
— A ™ FSL 8 =205.560 m.

ELEVS 8 = 208.3810

(max2 = 9.826 cms,

—

FILEVS 3

.31 =1 m.

@
g — 0.757Cs 08183

< _'r
_S31-155004 A

ELEVS 31 —— ELEVE 81 b T

ELEVS 31, —  — ELEVBSI, |

|

— ELEVS 31,
Section B - B ELEVE 31,

Omax 31 = 1.492 cms. Qmax 31, = 1.234 cms. Qmax 31, = 1.234 cms,
ELEVS 31 = 204.871 m {(MSL) FSL 31, = 204561 m. FSL 31, =203.917 m,
ELEVE 31 = 204.015 m (MSL) ELEYS 31, = 203,583 ELEVS 81, = 202,723
FLEVE 81, = 202.968 ELEVE 81, - 199.018

Ngavidsalazgivingihnnass RMC ¥33n004i 2 ez 31 (9an529 709 81)
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lzud fudi (1)
1 7,930
2 4,770
3 8,999
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6 4,758
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6.2 N5 Calibrate 1A1S
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fgm‘fi i 7 Irrigation Outtet (T19aaaA 1)

a7 2 i Uan.naneasas LMC ni 214000 (H19aa099 7)

g@ﬁ' 3 7 Unsidhnasss 9R-LMC (Franandfi 11)
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99% 5 7l Ya1.na19n889 38R-LMC nu 3+000 (Tr9aRa9N 23)
11 6 7 Uavinaass RMC (1190897 31)
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AUn ARG URGI09IT N8 a0 s LTS as L olFamszauinluaans

W'SEHJYIJ@@WNHLHBﬁ’)%‘iua"r%‘imﬂﬂﬂ@u‘]u Lwalwawmﬂmmuwummmm L Nﬁﬂl&?’lﬂ?ﬂ’]?

Tumsgueszeuin uazawanislauu

mMTvarasiidusiansutsaanlaide 2 wuuds
(1) WUy Submerged Flow (93U 6.2)
(2) 1y Free Flow (ggﬂﬁ 6.3)

FUMNINI AT IINHEIA T Submerged Flow

Q = CgLhg A f28H  stiiennmmnmmmsmmmmesenssrsssseassessssssssessamsiagss (6.1)

Q = Sarinslnavasinsuatns 1 AULNAT TN

L = mmni’wmum:cﬂ W ey

hs - Teduhdeiae90T - 'i:ﬁumniﬂ‘j:g] ST TSI

g = 9.81 wasAni

h = e il - s T e

& = a.1la myluariueauuy Submerged Flow S9asnsovle

97N Calibration Curve fdauN"S

hS -n

- = KiBS “swmeosmcnmamnmmpen 6.2
Go ( )
Go = PwanIaduu e was

k,n = U8 UOIRNNIT

FUNINT IMAT S HAL ARSI LI Free Flow

Q = C L GOAS2EY oot eeeee e (6.3)
Y = e utna i iatiesonns uiuas
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V  szauiidwailai

- Vasduhdwieenas

Q =Cs Lhs4/2gh ﬂz

Go —Q hs

a- -
ITOUDICH

r r

P &
zi_l‘ﬂ 6.2 mﬂwawaa%wmummmuu Submerged Flow

V seduinenunilon

Go | —> Q=CLGo /2 Y

sUh 6.3 msluavasiiiine a1 Free Flow
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1 J 7
& = 818 N7 RN TULL Free Flow Geznsovnleann

Calibration Curve @4 FUNTI

i
S = Qe CHD rsstiisininn smemasmonnssomsissssronsssnsss g )
| = (6.4)
Woa uae b = g.1l& vasuns

vlcﬂ‘mm's Calibrate mmimm 5 a1913 ﬂammm@w 2 - fdﬂ‘l’l 6 Calibration
Curve T83879NTHS 5 87A7T wasagiusif 6.4 (n) - 6.4 (2) #WTU Irrigation Outlet lévin
mimmmImamnmﬂmmumms I@Umm‘magaaammu Irrigation  Outlet  BaILSEM
Harza Engineering Co. (1982) @Tﬂgﬂﬁl 6.5
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Wik 61 Q fibraRw Uas. thnassd 980 9R - LMC wihny 2 au.luaiee

AU Y = 1.2 RT WEIWIDET Go

9N Calibration Curve 317 6.4 (1)

a = -14.75
b = 16.65
L = 1.25 Luay
1.2 (0(-14.75)
Go = -

16.65  16.65(1.25)+/2x9.81x1.2

= 0.072 + 0.146 Q
= 0.072+0.146(2) = 0.364 1Ua7
- 36.4 o).
A ldauaaInuFURUETIAIe Q Uar Go @wmSusnansUssIAn Free

Flow ﬁaLLamlugﬂ‘ﬁ 6.8

2.5 S
5 - Head Regulator SR-LMC 0+000
— L5
w
g
o
e
& 1+
0.5 <
0 JF 1 i |L JF I F T
0 0.05 0.1 0.15 0.2 0.25 0.3 0.35 0.4 0.45
Go(m.)

» =
gﬂﬁ' 6.8 Q - Go Curve @193 Ums.1dnaand 9R - LMC H91inlnanyuy Free Flow
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dﬂl gj 1 ]
6.5.2 NN IRaHIRDIAITULY Submerged Flow

msdwamuwianinlauis  (Go) niil Submerged Flow a:tannun
NnTd Free Flow  \iosgammilnazasirsenasmiioriienléuniwasnn Back
Water Effect "fiuﬁmmnwmuqu Ta-1Ta 150 anarsrneile fdumiainnTagliani
LL@iﬁ’ﬂa'mﬁaghlnaﬁu Back Water Effect a’mﬁ'ﬁn%wa%jﬁqﬁagﬂﬁ 6.9 tar 6.10 GIkunTT

S mrITmanITa U nazntsaandu 2 A Ao

(1) neitlaisl Back Water Effect 91na1975¥1181

(2) nsaiil Back Water Effect 3908161311837
(1) n50ilsisi Back water Effect 910971 15118%7

mngﬂﬁ 6.0 niiilufl Back Water Effect sreiuthluasssinounuazagi

. o 9 2 1
Normal Depth Gaanursosiuamlalasldgas Manning 6isil

Q - - P N T, (6.6)
A
2
Q = aamsluanasiituaaaaily auiuasAwn
n = &.1.%. Manning
Aj ﬂil 7 o I~
= AUNABInaaRDILL Y f1.10aT
s ek & A
R = Seiimaeaas = —
P
So = AN BAFE

' G

nydaagadusdfmacuansay J86d9 9 asgd
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l ]<— Back Water Effect
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Y1

Q2 -

(' ELEVB 1

> IGOQ
=z SN
TN T

6.9 N3l Back Water Effect 91007015 2 laddnanasanising

N
PYRIWTHIWRDIANT 1

KEL

—

—_—

e

~—— Back Water Effect

PYAIWIHIBETANT 1
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- PR = W= 1 ‘-l
1 6.10 N3N Back Water Effect 91081017 2 Hanowanan1sina
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lLimssadwanimn Normal Depth  (y) lélapass (implicit Solution) daasnuimlanss

Newton-Ralphson #13%

1—Q /0]
= D 6.7
Tit1 i 2 dR 1 dA osr)
(- T+ — ).
S8R dy A dy J
e
Vi 4Ry, = iy Aduolalusand j+1 uay | enudey
Q = A1 Q Arimualy
Qj = i1 Qg y =y,
2 dR_ 1dA

a 4 |
) geometric function Ya9R8aITURIWADNAIMY 19
S8R dy A dy u Y

Usziiiudnfl y =y,

2

(b +2zy) (5b + 6y 1+z2 + 4zy 1+z2)

8y(b + zy)(b + 2y 1+ 22 )
TUADWNITATWIMHT y 910 #NNI5A 6.7

1. M71U Q. b, z, n laz So

2. 8Nuf y, =y,

3. AU

A = (b+zy) y,

Ao ey
Aj

R, = i

Qj _ % AJ, Rj 2/8 \/g

o aR 1 da (b+21yj)(5b+6yjm+ 4zyj2\/l+zz)
(3R dy A dy)j ) Syj(b+2zyj)(b+2yjm)

4. fUIUM Y, (WD y,) MMEUMIA 6.7

5. @779RAL
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0 (YY) = O (ie. 0.001y, = 0)
WEaddn y =y, fleun&fia Normal Depth
M (Y, %) >0

Wy =y,

WAIFIWI A NTUAAWT 3-5 113

Wanyuszauindoenas (3n Normal Depth) 3TRINTTOFIUIMATGT Go
winauni 1 uae 2 ladsdaluil Tagasaun@gwissduhmihanansedil FsL

hs = ELEVBT#¥:~El EVS1
h = FSL1 —(ELEVB1 +y1)
Lﬁa ELEVB1 = Elevation of Canal Botton of Structure 1
ELEVS1T = Elevation of Gate Sill of Structure1
Q

Cs £ —_——

L hs ,/2gh

hs

Go =

k Cs™

(2) nsknal Back Water Effect 91081A1571 1817

N5l Back water Effect @93Ufl 6.10 azdasdmrmmissaudirieuis lag
N3AUITE Water Surface Profile 31na ensvinsiin (anansh 2) lapasauudignwin “szainin

17 mm‘sﬁmﬁwagjﬁ FsL2”

ABN13fuIns Water Surface Profile 91nYein 1aeds Step Method (Depth

Calculated from Distance) (g}gﬂﬁl 6.11)

@

f 5
e f 3 @)
"‘7\ ;f T

Y1 o Q FSL2
e o Y2
\E\S So
St e ELEVS D
- =]
AX

Eﬂ‘ﬁ 6.1 1 Depth Calculated from Distance by Step Method
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E1 + So.AX = E2 + Sf.AX

1
= E2 +, (SIL +5f2) AX

1 1
E1-E2 - (ESﬂ+gSf‘2—So)AX
1 1
Kl ~—Z-Sf1.Ax = E2 +£Sf2.AX—So. AX
1 1
E1—_ Sl AX & E2— , Sf2. AX + (812 — SOAX ............ (6.8)
2
s v
[$15] E = Specific Energy =y +
2g
Sf = Friction Slope G9aunsneéuimldannannis
Manning ija“ﬂ‘mu Q. n Wary
LN
RYE

AX U TEWINT NN IR IR IA NI TH

9
s

PUADHNITATIAY y DINTTENW AX

i.19uQ, b, z, n, So

2. duunaan AX

3. Muuald Y2 = FSL2-ELEVS?

2
s / A2)
4. auite E2 = y2+ Q/A2)
2g
Qn 2
Sf = (T /5]
2 Azr2 /3

1
U1 (B2~ Sf2. AX) + (Sf2 - 8oy AX

5. éwanusin y1 lee3T Trial and Error (Newton Ralphson) #1&un7s

j
yl,, = yl'-T ..................................................... (6.9)
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Q (b+2zy1))
]

2 1 T
dy, J gAl 3
]

AX (Qu)® 2 dRl1 1 dAl
"9 (alL Rlz"s)j Csr1 ay1 * At a1}

AUADWHNTITATBIN y 1
51 aundi y1, = y1, lavdmuet y1,<y2

5.2 AW E1j hax Sf1j

) 1
5.3 dwaim U1 = (EI-ES{I.AX)

2 dRI 1 dAl

54 amm AT, R uas (———+———
o LS Gryar T ATyt

5.5 ey 1, naums
5.6 A99d8Y
M oyl,, -yt ® O
U@ y, = y1,
il y1J+1 -y’l] > 0

14 y’lj = y1,
I meLiuaeui 5.2-5.6 lwil sunmniy1,, -y1, ® 0

6. fnwimainaaui 2-5 figa 2AX, sAX,... aunwziimny y e

2Pl (y1) eagUf 6.10

o
7. AN vy ﬁ?ﬂﬂ’]ﬂ?i@iﬁ?lﬂiﬂﬂi

PIBadL@uInuNToL0E) Back Water Effect

N3ty Varied Q

[ =1 F= d =1 ] k3
UNTHAADIDNIUARSI T ARDILLHTEY WD FTO Faflmariild Q anay (Q

varied) MsAwIMENTWATAY Back Water Effect a:¥iinuaddmnuindinindrluings

6.5.2(2) udazdasfansaniisedn Q faaasaszdil 6.12
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® ® @ @ ®
N

Q1 Q2 h_* Q3 Q4
Ax) q1 AX2 Ax3 LS Axa

= o =
5UN 6.12 n13@1%704 Back Water Effect N3t Varied Q

mngﬂﬁ 6.12

Q, = Q;-q,

QS = QZ_qE

Q, z Q;-q,
UABUNTITATITE

1. N1 y5 Imnauuﬁ@:ﬁuﬁmﬁﬁmﬂﬁagﬁ FSL

S y4 awitiinaadslu 7.5.2(2) Tagls Q, = Q,-0,-0,-q4
cAamy3 lavld Q, = Q,-q,-q,

S y2 laolt @, - Q,-q,

(67 BN U 5 B AW

Ayt lagld o,
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(Full Supply Leve!) LEI99FIUIAT Back Water Surface Profile 37n3=aU Full Supply
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FFNTA I ALENF1I NI

NUWIANNARAINEI WA lUsunss GATEOP (Gate Operation)
Fafouiiudinnm Quick Basic Awnniatrslumsdwindioum Ues. vesenans
muqumﬂ’ﬂsnuﬁga 6 maaamdaﬁma:ﬂﬂgﬁnmﬁ 2 poalannsiany Faldtmua
Lﬁu‘g@mni’@ﬁ’maﬂﬂwmi wlelms Calibrate a1navs 6 15 aaldnanuudlu

Wran 6.2
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» ¥ { A o E:
(Gate Openning, Go) W8481A1IAIUAUUINY 6 LEASIUANAKWINT 3 TIVOYATRWIE
YBIDINVIUATTIARDIFINATY 'ﬂ:g}ﬂﬁmumﬂudwmm’ﬂﬂﬂmnm GATEOP nnsun b

vednatnldun wluldsunsy GATEOP.BAS tvitibu
6.6.2 nlAtlsunsy GATEOP
misuldsunsn GATEOP vinldiy 9 launshuddindn GATEOP 1HRasy

Ti5unsy GATEOP.EXE w3aliun Quick Basic 31n DOS lapfiud1i1 QBASIC ug? Run
A w o
lisunsy GATEOP.BAS @avzdmingiuueil
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GATEOP.BAS
{ Gate Operation}
Calculate GATE OPENNING from a given Q
developed on 10 August 96
updated on 24 march 97

[1] lrrigation Outlets - Monitoring Point 1
[2] LMC Km 21+000 - Monitoring Point 7
[3] 9R-LMC - Monitoring Point 11
[4] 38R-LMC - Monitoring Point 16

[5] 38R-LMC Km 3+000 - Monitoring Point 23
[6] RMC - Monitoring Point 31
[7] Exit

Choose Number [1], [2],..

FIHALLDUATUADUURTNANITAIHI AT BIANITUAUIWD D El']ﬂ’l‘iﬂ’]l!ﬂil

o 8 ' o
LRZIAUIYIY 6 I@U[ﬂ‘um‘m GATECP LLamagﬁJ'LumﬂNu'mﬂ 3
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Program Flow Chart
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(1)

Select Gate
(Outlet Work)

No

Check
Gate Data
(Blevsl, L, Cd)

Input Q, WS

Q=Cd*L*Go ~/2g(WS-Elevs])

Calculate Go

Flow Chart 1151054 GATEOP (Qutlet Work)



Select Gate

{Check)

Canal/Gaie Data

Input ¢1, Q2

Calculate Water

Surface Profile

Calculate Go

Q=Cs*L*hs~/2¢/Ah

(2) Flow Chart 1t51un38 GATEOP (Check)
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Select Gate
(Head Regulator I; Free Flow)

Input Q1, Q2, Q3

l

Calculate Water

Surface Profile

Calculate Go

Q=Cd*L*Go/2gY

(3) Flow Chart 1USWn5% GATEOP (Head Regulator I ¥ree Flow)
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Select Gate

Head Regulator II: Submerged Flow

Input Q1, Q2, 3, Q4

Calculate Water

Surface Profile mn Main Canal

Calculatc Water

Surface Profile in Lateral

|
v

Calculate Go

Q=Cs*L*hs 4/ QgAh

(4) Flow Chart 1U51.n584 GATEOP (Head Regulator II: Submerged Flow)
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TUsunIy Code
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MREATEOP

Global

Glebal
Global
Glcbhal
Global
Global
Global
Global
Global
Global
Global
Global
Global
Globkal
Global

BAxE = g
Maxws, elevsl, 1, cd, g, go, ws

kma, kmb, kme, kmd, kme, x
yusa, yusb

fsla, fslb, fsle, f£sld, wshs

elevaa, elevah, elevgc, elevsd, elevbg, elevbb,
dmaxa, gmaxb, gmaxc, gmaxd

g, b, z, n

ald, bo

¥, gcsa, gesh, dcsc, gesd, geal
lisls, lnormals, Tedblas, lwselevs
lamaxas, lgmaxbs, lamaxcs, Lgmaxds
vds

mpname, mpnamedl, pass

fto(0 To 20), d=%(0 To 20}, NoOfFTO

9
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N_DEPTH.BAS - 1, ol

Sub NormalDepth (bb, 2z, nn, g, 49, Ynormal)
'determine normal depth of trapezoidal canal
‘from a given o
'required datsy - bb,zz,nn,S,QQ
‘calculate Ynormal
v0 = .8
area = ggq / vo
depth = area / bb
depkh = a%ea # (B 4 ZZ * depth)
1000 area = (Lb 4 2z * depth) = depth
P =bb+ 2 % Sqri{i &+ =5 & zz) * depth
r = area / p
q] = area * (py * (2 / 3)) = Sgris) / nn

Sdrz = 8qgr(l + zz * zz)

gfl = bb + 2 * zz =* depth
gf2 = 5 % b + g » depth * gsgrz + a = 2z * depth * depth =» sqrz
gfl = 3 « depth * {(bb 4+ zy * depth) * (bbb + 2 * depth * sgrz)

gf = gfi » gf2 / gf3
depthl = depth - (1 - aq / qi) / gf

'checle if depthl=depth

diff = depth1 - depth

tol = depth / 1000

If diftf » tol Then
depth = depthi
GoTo 1000

End If

Ynormal = depthil

End Sub



Wprofile.bas -1
Sub wsprofile (b, z. n, 5, dx1, g, y2, y1j1)
g =981
az={b+z*y2)
PZ=b+27"3qr{(1+ 2" z)"y2
2 =az/fp2
e2=y2+{g/a2) " 2/(2*q)
s2={g " nfaz* 2 ~@/an~2
ul=e2-.5%sf2 *dx1 + (sf2 - s) * dx1
'trial & error to determine y1
If mpnameT = "mp16suk" Then
ylj=1.1%y2
Ifg<.9Thenylj=12%*yD
fg<.5Thenylj =125 *y2
Ifg<.4Thenylj—1265*y2
Else
yli= 98" y2
End If
3000 al={b+2* Y1) * vy
pl=b+2"8qrl14 z* )yl
rM=at/pl
el=ylj+ig/al ~2/(2*g)
sfl=(g*n/@i*r1~@/3)p~2
ulj=el-.5*sf1 * dxi
'calculate section factor
= +2 727y} *(5* A 6% y1j* Sar(1 FZTZ) AT 2Tyl Tyl % Sar{1 + 2 )
t313*y1j*(b+z*y1j)*(bw-2*y’rj*8qr{7 +z272)
secfac = t1 /13
dfyH:1-q*(b+2*z*y1j)/g/a1 T3 +d*{grtn) 2 *sectac
Y1 =y - (utf- uly/ dretj
dy = y1j - y1j1
If Abs(dy) > .0001 * y1j Then y1j = y1j1: GeTo 3000
End Sub
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GOSUBMER .BaS - 1

Sub Gosubmerge {yds, elevb, elevs, fsl, qgeg, @, b, 1, dh, hs, wshs,

penMs)
'calculate o [Submerged Flow]
"[1] Eg: g = Cs*L*hs*sqr (2gdh)
f hs/Go = ax¢s*p
g = 9.81
'wehs = yds + elevb
hs wshs - elevs
dh = fsl - wghs
If dh <= 0 Then
Gopen = 0

GopenMs = v {x* Infeasible D/S WS. - U/S WS, #=lu

GoTo 10
End Tf

8 = gos / (hs * 1 =% Sqr{2 * g * dh))

Gopen = hg / (a * cg ~ b;
MaxGo = wghs - elavg
If Gopen > Maxco Then
GopenM$ = "{Go > MaxCo
End 1f
1¢ "infeasible
End Sub

: Recommend full gate openning) "

53
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Go



hsfGo = a*Csh

BrintEorm:

= Cs*L"hs*SQR[2gdh)

- Rietin (6 Maie Mema.
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Sub

End

Sub

End

Sub

End

Sub

GATECAL.FRM - 1

Commandl Click ()

Unicad Me
sCreen.MousePointer = 11
Wprofile. Show
screen.MousePointer = 1
Sub

Command2 Click ()
gatecal.PrintForm
Sub

Command3 Click ()
Unload Me
Uniocad Wprofile
Unload mp7
Unload mpi:
Unload mpls
Unload mp23
Unload mp3z1
gcsa = o

qCSb — o

gcsc = nr

gesd = v
mbgateop. Show
Sub

Form Load ()

Call GoSubmerge (yds, elevba, elevsa,

Gopen, GopenMs)

nd

fextl = gcal

text2 = ag

text3 = ho

textd = ]

Lexts = Formats$ (fsla, "g.00Cc0m)
texts = Formats(elevsa, "0.0000"m)
text7 = Formats (wshs, "0.0000M)
Cextg = Format$ (elevba, “0.0000")
fTextd - Formats (hs, "0.0000"}
textlo Formats (dh, v0.0000")
textll = Formats$ (Gopen, "O.0000")
label? ltitles

labslle = GopenMs

1l

Sub

fsla,

goady

ad,

Lo

’

1,

dh,



Water urtace Profile Cél_q&!ql__' 4

Distance P iam. =
Mo. of calculation steps =
lalsel4

fabels Labels
label7? Labeln
label12 labell13
Label14 Label15

m. MG

Goto Calcilate Go -




WPROFILE.FRM - 1
Dim 2
Sub calculate Click (Index As Integer)

If pass = "first" Then GoSub MainCanal
It pass = "gsecong" Then GoSub Lateralcanal
GoTo TheEnd

MainCanal :
yush: = Fell « clevels
Cext3 = Format$ (yush, "0.0000")
¥2 = yush
gz = gcsb

Call NormalDepth (b, 2, n, s, 92, yn)
texte = Formats (yn, "O.0000")

‘adjust fto (i) according to the available gfor

sumfta = ¢

Fer i = 1 7o NoGfFTO

sumito = gsumfto 4+ Flmsd )
Next i

Hiow = gy - qcsb - gesc - sumfto
If gfor <> 0 Then

gallocat = gfor / (NOOEFTC - 10)
For i = 1 To NoOfFTO

I Feald] 2% 8 Phen
fteld] = Pradil gallocat
End If
Next 1

End 1f
'calculate water surface profile

digx = 0
i0 = @

Gridl.Row = 1

Gridi . cel - g

wprofile.Gridl = i0

Gridl.Col = 1

worofile.Gridl = Format$ (disx, "0000,0n)
Gridl.Col = 2
wprofile . Grid:
Gridl.Col = 2
wprofile. Gridl = Format${y2, "0.0000")

Format${cz, "0.gp0v)

For 1 = 1 7o 10
92 = g2 + fro(i)
disx = disx - dx(i)
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WPROFILE . FRM - >

Call wsprofile(b, =z, n, s, dx{i), g2, vZ2, v1) o8

Y2 = vyl

Cridl.Row = i 4+ 1

Gridl.Col = 0

wprefile.Gridl = i

Gridlte]l = 1

wprofile.Gridl = Format$ (disx, "0000.0M")

Gridl.Col = 2

wprofile.Gridl - Formats$ (g2, “0.000")

Gridl.col = 3

wprofile.Gridl = Formats (yv2, "O.0000m)
Next i

YOE =yl

If mpname = "mpll" Or mpname = "mple” Or mpname = "mp31" Then
fsla = y2 + x * g 4 elevsb
LeXty = Format$ (fsla, "0.0000")

Else

wshs = y2 + x * g5 + elevsh
Cexts = Formats (wshs, "0.0000M)
'qcal = gesghb

End If

gecal = gosa

Return

LateralCanal:
If mpnamel = "mplésub" Then

‘calculate water depth at inclined drop
' first assume rectangular scction

g = 9.81
Yo = ((gesd / b) * 2 / gl "1 /3
Yy = yo
100 P=Db+ 2%z %y
area = (b + 2z * y) * y
terml = gesd ~ 2 / g
fy = term1 * p / (area ~ 3) - 1
tydat = term1l * (2 « 5 / (area ™~ 3) - 2 % P *p / (area * 4))

vdat = y - fy / fvdat
diff = Abs({ydat - y)
TE diff = .0001 ThHen
Y = ydat
GoTe 100
End If
yusb = ydat
fslb = ydat + eleveb
Fnd If

yusb = fslb - elevsh
Lext3 = Fovrmats ! usb, "0.0000")
v2 = yush
gz = gesd

~



WPROFILE.FRM - 3

Call Normallepth(b,
text6e = Formats$ (vn,

'adiust fto (i) according to the available gfor

ActualrTo = 0

sumfto = 0

For 1 = 1 To NoOfFT
sumfto = gumfto

Z, n, s, g2, yn)
"O0.0000M)

@]
+ fto{i)

If fto(i} > 0 Then ActualFTo - ActualFTo + 1

Next i
gfor = gecse - gesd

If gfor <» ¢ Then
gaildcat = gfor
For 1 = 1 To No
If fto(i) =«
frto(i) =
End If
Next 1
End If

‘calculate water sur
disx = 0
i0 =0

Gridl.Row = 1
Gridl.Col = 0
wprofile.Cridl
Gridl.Col = 1
wprofile . Gridl
Gridi.Cel = 2
wprotile.Gridl
Gridl.Col = 3
wprofile.Gridl

Fer 1 = 1 To 10
g2 = g2 + ftol(i

- sumfto

/ ActualFTOo
OfFTO

> 0 Then
fte(i) + gallocat

face profile

= a0
= Formats (disx, "0000.0")
= Format$ (g2, "0.000")

= Format$(y2, "0.0000")

)

disx = disx - dx(i)

Call wsprofile(
Y2 = i
Gridl.Row = i +
Gridl.Col = 0
wprofile . Gridl
Gridl .Col = 1
wprofile, Grid:
Cradi.got = 7
wprofile .  Gridl
Gridl.Col = 3
wprotile.Gridl
Next 1

b, z, n, s, dx(i), q2, vy2,

1

= Formats$ (disx, "0600.0")
= Formats (gqZ, "0.,000")

= Formats3{yv2, "0.0000")

V.

1
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WPROFILE.FRM - 4

yds = y2
wshs = ¥2 + x * g + elevsb
text9 = Format$ (wshs, "0.0000"}
gcal = gcsc

Rekif

Thelnd:
End Sub
Sub CalGo Click ¢)

If mpname = "mpll" Then
gatecal?2 . Show
GoTo 10
End If
Screen.MousePointer = 11
gatecal .Show
screen.MousePolnter = 1
10 ' incase of free flow
End Sub

Sub Command2_ Click ()
wprofile. PrintForm
End Sub '

Sub Command3 Click ()
Unload Me
Unload gatecal
Unlecad gatecal?
Unleoad outlet
Unload mp7
Unlocad mpll
Unlocad mplé
Unload mp23
Unload mp31
gcsa K
gesh = v
geso = o
gesd., g W
mbgateop. Show

End Sub

1

Sub Forw -Load ()
'initial wvalues

LENEL =
text2 = 10
textd = o

'text3 = Formats$ (yusb, “0.00gon)
textd = gcsa
texts = gosb
text? Jgcsc
taxts gosd

I



WPROFILE.FRM - 5

labeld = 1fsls
Labell = JTepnaxad
labeglé = gmaxa
label7 = lgmaxbs
labelB8 = gmaxb
labell2 = igmaxcs
labell3 = gmaxc

labelid4 = 1gmaxds
labells = gmaxd
labels = lnocrmals

labeli1l1l = ittitles
labelilis = lwselevs
labellz ltitles

'define grid table
Gridl.Row = 0
Gridl.Col = ¢

Gridl.RowHeight (0) = 1.5 * TextHeight ("W")

For i = 0 To 3
Gridl.ColWidth{i) = 1500
Gridl.FixedAlignment (i) = 2
Gridl.Colal idgamentii] = 2

Next 1

Gridl.Text = "Section"

Gridl.Cel = 1

Gridl.Text = "Distance (m)"

Gridl.Col = 2

Gridl.Text = "Qlcmg) "

Gridl.Col = 3

Gridl.Text = "Depth (m)"

End Sub

Sub previous Click (Index As Integer)
Unload Me

SCreen.MouselPointer = 11

If mpname = "mp7" Then mp7 . 5how
1f mpname = "mpll" Then mpll . Show
If mpname = "mpl&" Then mplé6. Show
If mpname = "mp23" Then mp23 . Show
If mpname = "mp31" Then mp3l.S8how
screen.MousePointer = 1

End Sub

Sub Textd4 Change ()
dcsa = Val (texta)
End Sub

Sub TextS Change ()
gcsb = Val {(texts)
Ernd sSub



WEROFILE .FRM - ¢

Sub

Text7ﬁChange ()
gosa = Val (text7)
Sub

TeXtS_Change (}
qesd = Val (texts)
Sub
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MBGATEOD .FRM - 1

63

Sub C38RLMC Click ()
mpleé . Show
End Sub

Sub C38RIMCKM2 Click ()
mp22 . Show
End Sub

Sub CYRLMC Click ()
mpll. Show
End Sub

Sub Exit Click ()
Unload Me
Unload outlet
Unload mp7
Unlcad mpll
Unload mplé
Unload mp23
Unload mp31
Unload wprofile
Unload gatecal
Unload gatecalz

End sub

Sub LMCKm21 Click |)
mp7.Show
End Sub

Sub annnOutletWork Click ()
On Frror GoTo ErrvorHandler

maxws = 221
elevsl = 204.5
L= 9.,.8%3
cd = .4038
Open "outlet.dat" For Input As #31

Input #1, maxws, elevsl, 1, cd
Close #1
outlet.Labell = "Outlet Work - Moritoring Point 1
outlet.Label2 - "FRER FLOW - Q:cd*L*Go*SQR(2g*(WSﬁElevsl))”
outlet.lLabel3d = "Max. water surface elevation in m. (msl)"
outlet.labeld = ngil] elevation in m. (ms]l)"
cutlet.Label’s = vQate length in m.»
cutlet.Labelé = "Discharge coefficient {ca}n
outlet.Label7 = "Q in oms. {max. Q0 = 11.2 cms ., v
outlet . Label8 = "Water surface elevaticon in m. {(msl)"
outlet.Label9 = "Calculated Go din m.v
outlet.Labellz - "Input/Edit values in the bhoxes below"
cutlet . Show
outlet.Textl = maxws



MBGATEQP . FRM - 2
64
outlet  Text? elevgl
outlet.Text3 = ]
cutlet,Textd = cod

ErrorHandler
Resume Next
End Sub

Sub Readme Click ()

MSY = "Mun Bon GATEOR" 4 Chr(10)

msg = msg + "{Gate Cperation computer pregram for Mun RBon Irrigation Proj
ect}"” + Chr(1i0)

———————————————————— S-------" 4 Chr{ig)

MSg = msg + "The purpose of this program is to assist field operation" +
msg = msg + "staff of Mun Bon project in determining canal gate” + Chr(10

Msg = msg + "adjustment according to WASAM 2.2 adviced waternv . Chr(10)
MSg = msg + "allocation plan on weskly basgis, " 4 Chr{10)
Msg = msg + Chr(10)
msg = msg + "The program requires the following data :" 4 Chr{10)
m8g = msg + " (1) hydraulic dimension of canal" + Chr(10)
Mg = msg + "(2) Manning's n" + Chr(10)
+ 1]
n
n

calculated Q of regulatcrs® « Chr{10)

msg = msg )
) regulator calibration curve" + Chr(19)
)

(
(
rl(
(

[0 BT Y]

mMSg = mag " upstream and downstream water level of the regulator." +
Chr{10)

mMsg = msyg + "---ooa___ TTT T mme o TR m S e SR SO —ma s s B s s e =
———————————————————————————— "+ Chr(10)

MSg = msg + "developed by Dr.Varawoot Vudhivanich" + Chr(10)
meg meg + "Dept.ol Irrigation kng.,Kasstsart Univ.,Kamphaengsaen Campus
A{8/07/1997}0

!t

MsgBox msg

End Sub
Sub RMC Click ()

mp3l.Show
End Sub



Fet

¥{Go = a0*Cd+b0

Ee Flow:@Q = ca*u@msongzﬂ

Qincms, = Text]

all = Text2
60 = Text3

Linm. = Textq
o=

U/S water surface in m.[msl] =
Gate sill elevation in m.fmsl) =
WS depth(m], Y =

[ Inputf Modify G|

Texth

[Texth

Text?

B5 -



GATECALZ2.FRM - 1

Sub Commandl Click ()
Unload Me
Wprotfile.Show

End Sub

Sub Command2 Click ()
gatecal?.PrintForm
End Sub

Sub Command3 Click ()
; Unlcad Me

Unload Wprofile

Unload mplil

qcsa — o

gcsh = "

gcsc = "

mbgateop . Show
End Sub

Sub Form Load ()

‘v = yds

‘fglec = elevac + Y

v = Isla - elevss

textl = gcsc

textz = a0

text3 = bo

textd = 1

textd = FormatS{fsla, "0.0000")
text6 = Formats{elevga, "0.0000")
text7 = Format$(y, "0.0000")
labelll = ltitle$

1zbelll3 = gmaxc

'calculate freeflow gate cpenning

g = 9.81
Gopen = v / b0 - gesc * a0 / (b0 * 1 * Sgri{2 * g * y))
If gcsc = 0 Then Gopen = 0

text8 = Format$ (Gopen, "C.0000")
End Sub
Sub Textl Change (}

gesc = Val {textl)
End Sub



ELEVS?
ELEVBY7 ELEVST?

ST

slope {S7) = Text3 Qmax?1 in cms.

bedwidth (B7)=  [To54 — 7 FSL71 -

side sfope [z7] = Toqe — | ELEVS?] =

Manning'sn = Tests | i

Gate leagth (L7) = [y —] oo

Omax 7 incms. [Toag 1 ECs*L*hs*SQR[Eg{@
ELEVST? = Texag ] i

FLEVR7 = W a - Text15h

FSL?

1
-
1)
3

07 -

" Caltulate Water Su

" Bave Canal Data.




ME7
Dim
Dim
Dim
Dim
Cim

Dim

Sub

Fnd
Sub
Fnd

Sub

SFEM - 1

km7s, km7e

87, b7, z7, n7

gqmax7, elevs?7, elevb7, fsl17

gmax7l, fsl71, elevs7i

17, a07, bo7

NoQfFTO7, fto7(0 To 15}, dx7(0 To 15)
Commandl Click ()

pass = "firstgn

lgmaxa$ = "Q7 in cms, Qmax="

lgmaxb$ = "Q71 in cme, QOmax="

lgmaxecs = nwn

Igmaxds - v

lnormals = "Normal depth (Yn7) in m. =
ltitles = "LMC-Check at KM 21.000"
1f=ls = "at FSL71,u/s depth{Yus71) =7
lwselevs = "Water surface elev. d/s of"

X = km7e - km7s
tslb = f=s171
eleveb = elevs71

tela = £317

elevsa = eleva?
elevba = elevb?
8 = g/
b = b7
Z = 27

= MY

For 1 = 1 To NoQfFTO7

fto(il) = fto7(i)
dx{i1) = dx7(1i)
Next i

NoOfFTC = NoOfFTC7
Wprofile.Show

Sub

Command2 Click ()}
mp7 . PrintForm

Sub

Command3 Click ()

'save data on "mp7.dat"

Open "mp7.dat" For Output As #1
Print #1, km7s, km7e
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MEP7 .

End

Sub

"151%

FRM - 2

Print #1, &7, by 27, 57

Print #1, qgmax7, elevs?, el
1

Print #1, gmax71, fsl171, e
Peint: i, 17, a07, boy
Close #1
Sub
Form Load ()}
On Error GoTo ErrorHandler
mpname = "mp7"

'define canal sgection dara

km7s = 21000
km7e = 23315

s7 = .0002
b7 = 2.4
27 = 1.5
n7 = .017

17 = 2 * 1.8

gmax’7 = 5.43
elavg? = 199.223
elevb?7 = 198,784
£s17 = 200.778

gmax7l = 5.43
fsl7l = 200.121

elevs?7l = 198 .321
ad?7 = .4

b7 = -1.321058
'GoTo 151

Open "mp7.dat" For Input As #1
Input #1, km7s, km7e
Input #1, s7, b7, z7, n7

Input #1, gmax7, elevs7, elavh7

Input #1, gmax71, fsl171, elesvs7:

Input #1, 17, ac7, bo7
Close #1

NoDEFTO7 = 14

For i1 = 1 To NoOfFTO7

fto7{i} = ©
Next 1
fto7(1) = .139
fro7{(2) = .186

fte7(3)

il
[

, fsl17
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fto7(5) = .115
d=x7(1) = 295

dx7 (2} = 240
dx7(3) = 110
d=x7(4) = 570 / 2
dx7(5) = 570 / 2
dx7(6) = 1100 / &
d=x7(7) = 1100 / s
dx7{(8) = 1100 / 5
dx7(9) = 1100 /5
d=x7(19) = 1100 /5

textl = Format${km7s / 1000, "CO0.000")
Lext2 = Format$(km7e / 1000, "00.000")

textd = g7
textd = h7
texth = z7

textée = n7
bewe % = Ly
text8 = gmax?
texty = elevs?
text]l0 = elevh?
textll = f£sl17
Lextl2 = gmax71
Lexti3 = £s8171
textld = elevg7l
textls = 307
textia = bo7

'generalized variable

L = 7%
aQ = ag7
bG = k07

Jquaxa = quax’
gmaxb = gmax71
gmaxc = "
gmaxd = "©

ErrorHandler :
Resume Next

End Sub

Sub Textl Change ()
km78 = Vali{textl) * 1000
End Sub

Sub Textl10 Change ()
elevih7 = Val (textl0)
End Sub
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Sub Textll Change ()
fel7 = vVal (text1l)
End Sub

Sub Textl2 Change ()
gmax7l = Val (textl2)
End Sub

Sub Textl3 Change (}
Isl71 = Val (texti13)
End Sub

Sub Textl4 Change ()
elevs/l = Val (text14)
End Sub

Sub Textl15 Change {)
a07 = Val (text15)
End Sub

Sub Textlé Change ()
b07 = Val (textls)
End Sub

Sub Text2 Change ()
km7e = Val (text2) * 1000
End Sub

Sub Text3 Change (}
57 = Val (text3)
End Sub

Sub Text4 Change ()
b7 = Val (texta)
End Sub

Sub Text5 Change ()
z7 = Val (text5s)
End Sub

Sub Texté Change ()
n7 = Val{tLexts)
End Sub

Sub Text7 Change ()
17 = val({text7)
End Sub

Sub Text8 Change ()
gmax?7 = Val (Lexts)
End Sub

Sub Text9 Change ()
elevs7 = Val (text9)
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End Sub
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Dim
Dim
Dim
Dim
Dim
Dim

Sub

End

Sub

End

Sub

km3g, km3e, kmlls 76
S8, b3, 28, 03, gqmaxi

gmaxd, fsl4, elevs4

qmaxll, elevgll

111, a0li, bo1zi

NoOfFTO3, fto3{0 To 15), dx3(0 To 15)

Commandl Click ()

pass = "firstg"

lgmaxa$ = "Q3 in cms, Omax="

lamaxb$ = "Q4 in cms, Qmax="

lgmaxcs = "Q11 in cmg, Qmax="

lgmaxds = "n

lnormals$ = "Normal depth {Yn2) in m. ="
ltitle$ = "9R-LMC head regulator®

1fsl$ = "At FSL4,u/s depth (Yus4) =7
lwselev$ = "Water surface elev. u/s of"

'defined generalized variable

X = km3e - kmlls

fslb = fala
elevsh = elevs4
elevsa = elevsll
b = b3

Z = z3

n = n3

s = 83

For 1 = 1 To 10

fto{i) = fto3 (i)
dx (i) = dx3(i)
Next 1
For i = 11 To NoOfFTO3
fto(i) = fto2 (i)
Next 1

NoOEFTO = NoQfFTO3

Wprofile.Show
Sub

Command2 Click ()
mpll.PrintForm
Sub

Command3 Click ()

'save data on "mpll.dat"

Open "mpll.dat" For Output As #1
Print #1, km3s, km3e, kmlls
Print #1, 832, b3, z3, n3, gmax3i
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End

Sub

Print #1, amax4, £sl4, elevs4d

Print #1, gmaxll, elevsil

Print #1, 111, a0l1l1, boll
Close #1

Sub

Form_Load ()

On Error GoTo Errorhandler

mpname = "mpil"
'define canal section data

km3s = 6880
km3e = 3200
kmlls = S050

s3 = .0002

b3 = 34

Zz3 = 1.5

n3 = .017
gmax3 = 8.737
Jumax4 = 6.329

fsld = 203.597
elevsd = 201.767

gmaxlil = 2.408
elevsll = 202.077
111 = 1.25

a0ll -14 .75
h011l = 16.65

it

Open "mpll.dat" For Input As #1
Input #1, km3s, km3e, kmlls

Input #1, s3, b3, 23, n3, gmax3

Input #1, gmax4, fgld, elevesd

Input #1, gmaxll, elevsll

Input #1, 111, &a01i, bo011
Close #1

NoCEFTO3 = 14

For 1 = 1 To NoOfFTO3

fro3 (i) = 0
Next 1
fto3(e) = .123
fto3 (11) = .107

ftto3(12) = .104

77



'

MEF1L.FRM - 3

fio3(213) - .1
fto3{14) = .1
disdx3l = 95
For 1 = 1 To &

dx3 (i) = disdx31 / 6
Next i
For i = 7 To 10

dx3 (i) = {(lkm2e - kmlls -
Next 1
textl = Formats{km3s / 1000,
text? = Format${kmlls / 1000,
Fextd = Formats (km3e / 1000,
textd = g3
texts = b3
texté = 23
text? = n3
Lext8 = gmax3
text? = gmaxd
textlt = fsl4
textll = elevs4
textl2 = gmaxli
textl3 = elevsll
textld = 111
textl: = afll
textls = b1ll

'generalized variable

o= 117

a0 = alll

Bl = BOld
gmaxa = gmax3
gmaxb = gmaxd
gmaxc = gmaxil
gmaxd o

Errorhandler:
Resume Next

End Sub

Sub

km3s
End Sub
Sub

End Sub

Textl Change ()
= Val (textcl)

* 1000

Text1l0 Change {)
fagld =

Val {text10)

Textli Change ()

disdzx31)

”0.000”)
”0.000”)
"O.000M)

/

(10

6)

8
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elevagd = Val (textll)
End Sub

Sub Textl2 Change (}
gqmaxll = Val(textl2)
End Sub

Sub Textl3 Change ()
elevsll = Val(textl3)
End Sub

Sub Textl4 Change ()
111 = val {texti4)
End Sub

Sub Textl5 Change ()
al0ll = Val (textl5)
End Sub

Sub Textlé Change ()}
P01 = Val (text16)
End Sub

Sub Text2 Change ()
kmllg = Val (text2) * 1000
End Sub

Sub Text3 Change 0
km3e = Val {(text3) * 1000
Engd Sub

Sub Text4 Change ()
s3 = Val {text4)
End Sub

Sub Text5 Change ()
b3 = Val {texts)
End Sub

Sub Texté Change ()
z3 = Val (texté)
End Sub

Sub Text7 Change ()
n3 = Val (text7)
End Sub

Sub Text8 Change ()
gmax?2 = Val (text8)
End Sub

Sub Text9 Change ()
gmax4d = Val (text9)
End Sub
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Dim km9s, km9%e, km9m, kmlés, kmlce
Dim s9, b9, z92, n9%, gmax%
Dim gmaxl0®, f£s110, elevslO
Dim =516, blé6, =z16, nlé, 116, gmaxlé, elevslé, elevblé
Dim a0le, bLO16
Dim elevsl6l
Dim NoQfFTO%, ftoS(0 To 15), dxb(D To 15)
Dim NcOfFTO16, ftol6(0 To 15}, dx16(0 To 15)
Sub Commandl Click ()
pass = "first"
lgmaxa% = "Q9 in cms, {max="
lgmaxbs "010 in cms, Qmax="
lgmaxc$ = "¢l6 in cms, Qmax="
lgmaxds = "Q1l61 in cms, QMax="
lncrmal$ = "Normal depth (¥Yn%) in m. ="
ltitle$ = "38R-LMC head regulator"
1fsl$ = "At FSL10,u/s depth(Yusl0) ="
lwselevS$S = "Water surface elev. u/s of"
'defined generalized variable
¥ = km%e - km9m
fslb = fsl10
clevsbh = elevslO
elevsa = eclevslé
"vushb = fs5lb - elevsb
b = b9
z = z9
n = nbd
s = 359
For i =1 Te 10
frto(i) = fto2(i}
dx (i) = d=z9(1)
Next 1
For i = 11 To NoOfFTOY
frto(i) = fto2 (1)
Next i
NoQfFTO = NoOfFTOH
WProfile.Show
End Sub
Sub CommandZ Click ()
mplé. PrintForm
End Sub
Sub Command3 Click ()
mpnan=i = "mpléesub"
pass = "second”
Igmaxa$ = "02 in cms, Qmax="
Igmaxzbs = "¢10 in cms, CQmax="
IgmaxcS = "¢l6 in cms, Qmax="
lgmaxd$ "Glel in cms, OMax="
lnormal$ = "Wormal depth {¥Ynl6) in m. ="
ltitle5 = "3BR-LMC head regulator"
1fsl$ = "At inclined drop(Yuslel) ="
iwselevsS = "Water surface elev. d/s of"
'defined generalirzed variable for 2 wsprofile calculation

®x = kmlée — kmlés
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End

Sub

b = blé
z = z16
n = nlé
s = 516

For 1 = 1 To 10
fto(i) = ftol6{i)
dx{i) = dxl16(i)

Next 1

eleovsa = elevslg
elevba = elevbié
elevsbh = elevsiel

NoOfFTC = NoOfFTOL16
WProfile.Show

Sub

Command4d Click (}

'save data on "mpl6.dat®
Cpen "mplé.dat™ For Output As #1
Print #1, km9s, km9%e, km®m, kmlés, kmloce
Print #1, 592, b%, 29, n9
Print #1, gmax8, gmaxl(, fs110, elewsl(
Bratit. #£ly 516, bBle; 216, mkE, LlE
Print #1, amaxle, elevslo, elevble
Print #1, a0l1l6, b0Ol6
Print #1, elevsl6l
Cilose {1

Sub
Form Load ()
On Error GoTo ErrorHandler

mpriame = "mplg"
'define canal section data

km9s = 36010
km9%e = 37859
kmSm = 37650
kmlés = 0

kmliete = 240

s9 =1 / 1200
b9 = 2.2
z% = 1.5
n% = ,017
gqmax9 = 4.179
gmaxl0 = 245

2110 = 196,037
elevslQ = 194.758

sl6 = .00002: 'field data =0
bl = 2

z1lé = 1.5

nlg = .018

1l1l1é = 1.25

gmaxlée = 3.652

elevsle = 193.989
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elevble = 194.153

alle
b01lé

wO3 L
-1.3663

il

clevsitl = 194.162

Open "mplé.dat" For Input As #1
Input #1, km9s, kmBe, km%m, kmlés, kmlGe
Input #1, s9, bhg, 29, n9
Input #1, gmax9, gmaxl0, £s5110, elevsl(
Input #1, s16, bls, zis, nie, 116
Input #1, gmaxlé, clevsls, elevblg
Input #1, a0lé, b0ls
Input #1, elevslsl
Close #1

NoQfEFTOS = 13
For i = 1 To NoOfFTOS

fto9(i) = 0
Next 1
ftod(11y = .1
fto%(12) = .12
fto8(13) = ,151

For i = 1 To 10
dx2(i) = {km9% - km9m}) / 10
Next 1

NoOLETOle = 10
For 1 = 1 To NoQOfFTOl6

ftole{(i) = 0O

dxl6(i} = (kml6e - kmlé6s) / NoOfFTO16
Bleset,
textl = Format$ (km9s / 1000, "0.o00™)

(
Lext2 = Format$ (km9e / 1060, "0.000")
Lexts = Format$ (km%m / 1000, "O.000")

(

¢

(s

textd = Format$ (kmlés / 1006, "g.000™M
text5 = Formats kml6e /1000, "0.000")
texth = Format$ "0.Co000M

Lext? = b9
text8 = z¢
text9 = no
text10 = gmax9

textll = gmaxl(
textl? = £s5110
textl3 = elevs]O

textld = gl1¢6
textls = bleé
COXELIE = 216

textl? = nlé
textld = 116
textld = gmaxlé
textZ0 = elevslés
text?l = elevbild

text?22 = allé
text?Z3 h01lée

il

textZd = elevslnl

"generalized variable
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= 156
ald = a0ls
b0 = hils
gmaxa = gmaxf

dmaxb = gmax10

qmaxc = gmaxlg
amaxd = gmaxlé

ErrorHandler-

End
Sub
End
Sub
End
Sub
End
Sub
End
Sub
End
Sub
End
Sub
End
Sub
End

Sub

End
Sub
End
Sub

End

Resume Next
Sub

Textlichange )
km9s = Val (textl) * 1000
Sub

Textlo_change {}
qmaxs = vVal(texti()
Sub

Textll_Change ()
quaxll = vVal (textl1)
Sub

TextleChange ()
fs110 = Val (textl12)
Sub

Textl3 Change ()
clevsl) = Val {textl3)
Sub

Textld Change ()
sle = Vali{textl4)
Sub

Textl5 Change ()
ble = Val (textl15)
Sub

Textl6 Change ()
zlog = Val (textlg)
Sub

Textl7 Change ()
kg = Val (textl7)
Sub

Textl8 Change {)
116 = Val (textldy)
Sub

Textl9 Change (:
gmaxle = Val (textl9)
Sub

TextZ2 Change ()
kmbe = Val{textZ) * 1000
Suhk

TethO_Change {)
elevsles = Val (text20)
Sub
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Sub Text21l Change ()
elevhls = Val (text21)
End Sub

Sub Text22 Change ()
alle = vVal (text22)
End Sub

Sub Text23_Change ()

bUis = Val (text23)
End Sub

Sub Text24 Change ()
elevslie]l = Val (text24)
End 3Sub

Sub Text3 Change ()
kmbm = Val(text3) * 1000
End Sub

Sub Textd Change ()
kmlés = val(text4) * 1000
End sub

Subk Texts Change ()
kmlee = Val(text5) * 1000
End Sub

Sub Texl & Change ()
$9 = Val (text6)
End Sub

Sub Text7 Change ()
b9 = Val (text7)
End Sub

3ub Text8 Change ()
29 = Val (Lext8)
End Sub

Sub Text8 Change ()
nd = Val (text9)
End Sub
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Dim
Dim
Dim
Dim
Dim
Dim

Sub

End

Sub

End

Sub

kKm23s, km23e 87
523, b23, =223, n23
gqmax23, elevs23, elevb23, f=123
dquaxz4, fgi24, elevs24
123, a023, b023
NoQEFTO23, fto23{0 To 15), dx22(0 To 15)
Commandl Click ()
pass = "firagtn
lgmaxas = "023 in cms, Qmax="
lamaxbs = "Q24 in cms, Qmax="
lgmaxas = no
lgmaxds = un
lnormals$ = "Normal depth (Yn23) in m. =v
ltitlies = mgp-1MC at Km 3.000v
1fsls = natr FSL24,u/s depth(Yus24) =v
lwselevs = "Water surface elev. dfgs ofv
'defined generalized variable
X = kmz3e - km23s
fsib = fglosg
elevsh = eleves24
fsla = fgl123
elevsa = elevg2l
elevba = elevb23
s = g23
b = b23
zZ = zZ23
n = nz23
For i = 1 To NoOfFTO23
fto(i) = fto23 (i}
dx({i) = dx23{1i)
Next 1

NoOfFTO = NoOfFTO23

Wprofile . Show
Sub .

Command2 Click ()
mpZ3.PrintForm
Sub

Command3 Click (]
'save data on mp23

Open "wp23.dat" For Cutput Az #1
Print #1, km23s, kmz3e
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Print #1, s23, b23, 223, n23

Pramp #9 gmax23, elevs23, elevb23,
Print #1, amax24, fglz4, elevelza

Print #1,. 123, 2023, b023
Close #1
End Sub
Sub Form Load ()
On Error GoTo ErrorHandler

mpname = "mp23"
'define canal section data

km23s = 3000

km23e = 4500
823 = .0002
b23 = 1.4
z23 = 1.5
n23 = 017
123 = 1.2

amaxz3 = 1.927
elevs23 = 186.155
elevb23 = 186.051

£fs123 = 187.255
amaxZ4 = 1.102

fel24 = 186.851
elevs24 = 185754

I

af23
b023

.l
-.78

Open "mp23.dat" For Input As #1
Input #1, km23s, km23e
Input #1, =23, b23, =223, n23

Input #i, gmax23, elevs23, elevb23,
Input #1, gmax24, fsl24, elevs2i

Input #1, 123, a023, b023
Clogse #1

NoOfFTO23 = 12
For i = 1 To NoCOfFTO23
fte22 (i) = o

Next 1

fto23{(1}) =~ .116
fto23(3) = .2

f=2123

fglaa



dx23(1) = 10
dx23(2) = 290 ;o2
dx23(3) = 290 / 2
dx23(4) = 570 /3
dx23(5) = 570 / 3
dx23(6) = 570 / 3
dx23(7) = 630 / 4
dx22(8) = 630 / 4
dx23(9) = 630 / 4
dx23(10) = 630 / 4

textl = Format$ (km23sg / 1000,
text2 = Format$ (km23e /1000,
Lext3 = g23

textd = b23

texts = z22

Cexte = n23

text? = 123

text8 = gmax23

Lexts = elavszil

Lextld = elevb2?

Cextll = f£g123

textlz = gmax24

Cextl3 = fgloa

textld = elevsna

Lextls = z023

textlé = bo23

'generalized variable
1 = 123

a0 = ali23
ko IrUis

il

amaxa = gmax23
aqmaxb = gmax24
gmaxc = v
gmaxd = "m

ErrorHandler:

End

Sub

End

Sub

End

Resume Next

Sub

Textl Change ()
km23s = Val (textl) = 1000
Sub

Text1l0_Change ()
elevb23 = Val (text10)
Sub

"0.000mM)
"0.000")
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Sub

End

Sub

End

Sub

End

Sub

Fnd

Sub

End

Sub

End

Sub

End

Endg

Sub

End

End

Sub

End

Sub

Fnd

Sub

End

Sub

Textil Change ()
£8123 = Vval (textil)
Sub

Textl2 Change ()
gmax24 = Val (texti12)
Sub

Textl1l3 Change ()
fs124 = Val (text13)
Sub

Textl4 Change (}
elevs24 = Val (textl4)
Sub

Text15 Change ()
a023 = val (textl15s)
Sub

Textl6 Change ()
b023 = val (textls)
Sub

Text2 Change ()
km23e = Val (text2) =
Sub

Text3 Change ()
222 = Val (tcext3)
Sub

Textd Change ()
b23 = val(text4)
Sub

Text5 Change ()
Z223 = Val (texts)
Suk

Text6t Change ()
nzi = Val{texte)
Sub

Text7 Change ()
123 = Val (text7)
Sub

Text8 Change ()
gmax?3 = Val (textg)

Sub

Text8 Change ()

1000

90



MPZ3.FRM - 5

elevs23 = Val (text9}
Fnd Sub
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Dim
Dim
Dim
Dim
Dim
Dim
Dim
Dim

Sub

End

Sub

km2s, km2e, km2m, u3ls, kmlle

52, b2, 22, n2, gmax2

gqmax3, fegl2, elevs3

s31, b31, =z321, n3i, 131, qmax3l, elevs3il,
a03l, bh0o31

gmax3ll, £=£1211, elevs31ll

NoOfFTC2, fto2(0 To 15), dx2(0 To 15)
NoOEfFTO31, ftoz1(0 To 15}, dx31{(0 To 15)

Commandl Click ()

pass = "firsg®

lgmaxa$ = "Q2 in cms, Qmax="

lgmaxb$ = "Q3 in cms, Omax="

lamaxc$ = "Q31 in cms, QOmax="

lgmaxd$ = "Q311 in cme, Qmax="

lnormal$ = "Normal depth (¥Yn2) in m. ="
ltitle$ = "RMC head regulator"

1fsls = "At FSL3,u/s depth(Yus3) =r
lwselevs = "Water surface elev. u/s of"

'generalized variable

X = kmZ2e - km2m

felb = fgl3
elevsh = elevs3
elevsa = elevs3l
bh = b2

Z = z2

Il = &2

S = 82

For i = 1 To 10

fto(l) = ftoz (i)
dx (i) = dx2 (i)
Next 1

For i = 11 To NaQfRTO2
foe (i) = fto2 (i)

Next 1

NoCQEFTO = NoOfpPTO2

WProfile.Show

Sub

Command2 Click ()

mpnamel = "mp2lsub”

pass = "gecond"

elevbil
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lgmaxas

I

"OZ in cug, Cuwax="

lgmaxbs = "Q3 in cms, CQmax=" 74
lgmaxc$ = "Q31 in cms, Qmax="

lgmaxds = "Q311 in cms, QMax="

lnormals$ = "Normal depth (Yn31l) in m. ="

ltitle$ = "RMC head regulator"®

1fsls = "At RMC-CH2.42{Yug311) ="

lwselevs = "Water surface elev. d/s of"

'defined generalized variable for 2 wsprofile calculation

% = km3le - km2is
fglb = £sl1311
elevab = elevs3ii

elevga = elevslil
elevba = elevb3l

b = b31
Zz = z31
n = n3il
5 = g31

For 1 = 1 To NoQOfFrTO31
fto{i) = fto3i (1)
dx (i) = dx31(i)

Next i

NoOfFTC = NoOfFTO31

WProfile.Show
End Sub

Sub Command3 Click ()
mp3l.PrintForm
End Sub

Sub Command4 Click {)

'save data on "mp3l.dat"

Open "mp31l.dat" For Output As #1
Print #1, km2a, lkm2e, km2m, km2ls, km2le

Print #1, =2, b2, z2, n2

Print #1, gmax2, gmax3, f£=l3, elevs3

Print #1, £31, b31, =z31, n31, 131

Print #1, gmax3l, elevs3il, elevb3il

Print #1, a031, b031

Print #1, gmax311, fs1311, elevs3il
Close #1

End Sub

Sub Form Load ()



fto2 (1)

0



Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Sub

End

Suk

Textls Chargs |
z31 = Val (textle)
Sub

Textl7 Change ()
n3l = vVal (textl7)
Sub

Text18 Change ()
131 = val(textl1s)
Sub

Text1l9 Change ()
gmax3l = Val {textl9)
Sub

Text2 Change ()
kmZe = Val (text2) * 1000
Sub

Text20 Change ()
elevg3l = Val (text20)
Sub

Text21l Change ()
elevb3l = Val (text21)
Sub

TextzZz Change ()
at3l = Val (textz2)
Sub

Text22 Change ()
b031 = Val (text23)
Sub

Text24 Changs ()
gqmax31ll = Val{textZ4)
Sub

Text25 Change ()}
fsl311 = Val (text25)
Sub

Text26_Change ()
elevs3ll = Val (text26)
Sub

Text3 Change ()}
kmZm = Val (cext3) * 1000
Sub

Text4 Change ()
km21le = val{textd) * 1000
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MP31.FRM - 7
End Sub

Sub Text5 Change (}
km3le = Val (texth) * 1000
End Sub

Sub Texté6 Change ()
s2 = Val (texts)
End Sub

Sub Text7 Change ()
b2 = val (text7)
End Sub

Sub Text8 Change ()
z2 = Val{text8}
End Sub

Sub Text9 Changes ()
n2 = val {text9)
End Sub



